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Addition

Grade 2 Word Problems Worksheet

This year our school went to the zoo. The zookeepers
were happy to welcome us.

1. There were 23 girls and 18 boys on the bus.
Together with the 2 teachers and the bus driver,
how many people were on the bus?¢

2. There were many different fish in 2 ponds at the
z00. The first pond had 31 fish, and the second
pond had 23 fish. Together with the 9 fish in the
aqguarium, how many fish were there at the zoo?

3. On theright-hand side of the zoo, there were 23
tigers, 12 elephants, 9 horses and 43 birds.
How many land animals were there?
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In the central part of the zoo, there were 25 four-
legged animals, 9 two-legged animals and 12
animals with no legs. How many animals in the
central part of the zoo had legs?

At the end of the day, the zoo cashier counted
all the tickets sold. They had sold 23 adult tickets
and 28 tickets for kids. Together with 2 tickets sold
for senior citizens, how many tickets were sold
altogether?

Write the addition equation for this sentence: In
the zoo, an adult ticket is worth 14 dollars, while @
kid's ticket is worth 8 dollars. If a family with 2
parents and 1 child went to the zoo, how much
money would they spend on tickets?
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Answers
1. 23+18+2+1=44
There were 44 people on the bus.
2. 31+23+9=63
There were 63 fish at the zoo.
3. 23+12+9=44
There were 44 land animals.
4., 25+9=34
There were 34 animals with legs.
5. 23+28+2=53
There were 53 tickets sold.
6. 14+14+8=236

The family spent $36 on tickets.
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